EARAROBEEIERT — 2 N— IBISH —F

2014598270 (4) 3E#R5H

m"fﬁ%Zﬁ KR [38E] BES ‘ [Xiz] % ‘ [eErsm]  — | &4 (&) 12000 FAE
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
—s HHEA 13, - . . EREEX (XH
117113 IS4 FFF0 4 2 aa 1(1_3)0 -7 37.5| 84.5 9 :,982) Em‘%ﬁ_
R:TS5v 814K BiAAYIIEY b it
S o2 | EEAA 1:13.3 8-7 37.7| 81.9 | 5 432 | £HIR (E#)
2 7| b3 Fy—1~ 54.0 (1 3/4) (12 | BIT¥aTEE G
R:2ALINT Ry 7R B:ZAAA I ay By BE
S . R IFE : - ER® (ER
3 6| T—Y—71 K it 2 e 1713t;°, 2-2 38.5| 81.8 | 4 (4::30) R
R:ZRZyYzlh B:ILEFTA R HE77—L4
¢ 4 2 | IHERS 1:13.5 5-5 38.5| 80.0 | 3 456 | EFEH (EH)
4158 R —LXE!— 54.0 (1 1/4) 0 HEE &
R:dr—3)7> B/ HTF— FIRI45%
- =il : - HREEA b=
50111 AINFLSTR—I 4 2 o (11.113/.27) 1-1 39.2| 78.6 | 2 g)z r%kﬂ@:g (E#)
Rk vH/xkEE BHLILTI-N Al H—
= SE 4 2 | HEILHSA 1:13.8 3-2 38.9| 77.6 | 1 496 | BmAfRE (GEiH)
6 3 IXZILRE—LA 54.0 (172) 0 LR —ER
L:77Z2VIT7 B:A-L31T71 ELie)
¢ 2 | HILFAE 1:13.8 8-9 38.2| 775 | 7 430 | MEILIE (EH)
7 5 | JVINZ g 54.0 7€) (-g) | EREL+M
x40 B 7 ML v L =ie]
N RiEH : — KEIRB— (EiH)
8 9| B¥s Vs L Il 1(.;/;4.)9 3-2 39.0| 76.8 | 6 <4+888) A
:H YT RV B T7a—Frv v b B B
i S o2 | BMER— 1:14.0 11-10 38.0 | 75.7 | 14 474 | BEHRX (ERH)
9 4| I TF— 54.0 7E) (+4) £a /g
Z:Nd B:Fv=rTH- BRI RS
o q o 4 2 | FFLEd 1:14.3 6-6 39.2| 73.5 | 12 | 486 |AHEB &)
10 10| 1> rE2T A51.0 (1 3/4) (e) | FEFREA
R:84¥>v ML B:E2aT7ILIFUR RIS
T o2 | AEEN 1:14.3 14-12 | 37.9| 73.1 | 11 | 476 |MEAB= (EH)
1o bv7H> 5.0 e o |HeEE
Z:Nd BAYYAFITFILZ FREH S
S # 2 | RLDRKA 1:14.7 15-15 | 37.4| 69.7 | 10 | 476 |EEEE (KiH)
12| 8|14 N A =7 54.0 (2 1/2) o |PlEE
R:2zZyVzrll B:¥2M4IVX CErEr e ]
o oy K5 s 2 | BEAA 1:15.1 13-12 [ 38.9| 66.4 | 13 | 468 |BEFHZT (EiH)
131815 N1 > v /N> k=3 54.0 21/2) o) | AEA
LHIITLIFL N BiLF4IXCRT E=tie ]
AR R s o | EEAME 1:15.7 1-1 39.7| 62.1 | 15 | 434 |/AvalUE (E#)
71 ¢ FNEZYEVE A A51.0 3 1/2) () | FEBR
B2 Y E—T BT TI—L—> AALTINT 7 —L
S ; N FE1= :16. - . . REE= (£H)
1517 12| ¥TINEH= V) " 2 A51.0 (13116/2?3 g1 0-6) %84 8 5?;) FPE
LREFa—FTUNTF 4 BTAITLY mE E=
@ 21 L
£ 50.1-38.5
NA>24 L | 12.1-10.8-11.6-12.8-12.7-13.0
® 1—F—@EBIERL
13—7F-
2ol=5"=
== 1,6(3,9)8,10-13(5,7,12) (4,11)15,2=14
43—+ — 1(3,6,9)8,10(7,13)5-4,11(2,15,12)=14
[ RN
B 13 2,460/ 714K 7-13 2,370 e E 4-7 1,960 JEE 6-7-13 15,960
# B 13 730H 6-13 2,330 B = 7-13 7,850M JEH 13-7-6 120,280M
7 230M 6-7 1,020H B H 13-7 16,560
6 260M

ABICOVWTRDTEEERROODE. TR LIV,




